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10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of sixty (60) multiple-choice type of questions,

out of which the candidate would be required to answer an

fifty (50) questions. In the event of the candidate attempting
more than fifty questions, the first fifty questions attempted
by the candidate would be evaluated.

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(€73) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iit) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO,

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Paper I
PraviEcal|
Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : (1) This Paper contains Sixty (60) multiple choice questions, each question

Bkl

carrying Two (2) marks.

(2) Attempt any Fifty (50) questions.

3T

: (1) A YU 918 (60) dgMHas Tvd foet STHA Udeh UeAmel &M (2) 0

(2) HUAR TN (50) YT IW T

Which of the following will complete
the numerical series ?

(D) 94

Which of the following will complete
the series ?

BDF, HJL, ........ , WYA.
(A) NPR
(B) 0QS
(C©) OPQ
(D) NOP

In a code language, the word
‘TRAIN’ is coded as ‘SSZJM’, then

what is the code for the word

‘STUDY’ ?

(A) RUTEX
(B) TUVEZ
(C) RSTCX
(D) RUVEZ

1.

qEAiehl HIOA AF TR A gouf
A ?

(D) 94

qad®l w1 wata 4 gt
wA ?

BDF, HJL, ........ , WYA.
(A) NPR
(B) 0QS
(C) OPQ
(D) NOP
Th Hishfash 9o ‘TRAIN® &1 ¥
‘SSZJM’ 391 ®UAd shell, T 4
ared ‘STUDY’ &1 ¥ee skl fafean
¥Ea ?
(A) RUTEX
(B) TUVEZ
(C) RSTCX

(D) RUVEZ

[P.T.O.
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Which of the following shows the | 4 EetE B T Bere, fened
correct relationship among players, .
ST Heft, amEie oy siek refad ?
students and girls ?
(A)
(A)
(B)
(B)
©)
©)
(D) (D)




Ashok jumped higher than Mohan

but not higher than Chetan. Naresh

jumped higher than Krishna but not

as high as that of Mohan. Then what

is the correct descending order of

players considering their jump ?

(A) Mohan, Chetan, Ashok, Naresh,
Krishna

(B) Chetan, Mohan, Ashok, Naresh,
Krishna

(C) Chetan, Ashok, Mohan, Naresh,
Krishna

(D) Chetan, Naresh, Mohan, Ashok,
Krishna

Based on the following statements
which of the conclusion/s, given
below will follow/s ?

Statement A :

All social workers are politicians.
Statement B :

Some politicians are professional.
Conclusion I :

No social worker is a politician.
Conclusion 1II :

All politicians are professional.
(A) Only I follows

(B) Only II follows

(C) Both I and II follow

(D) Neither I nor II follows

APR - 00117/1—D
3TYTRA HIgTIeN 39 31 AREA, T
JATUET 39 IS! ARG AR AREM
FOUMIeT 39 IS RS, T A Hied
TEe! S8 AR ARl T S9 Sedl Saidl
%A HE FEA ?
(A) HIEd, =, 3R, T, Foom
(B) =¥, HIed, 3T, W1, FHo0m

(C) =™, 3TNk, HIgH, w1, FHoom
(D) =, R, Wed, TR, FHom

qRra fagmr=n aR Sioa(d) e
Hledl Ida ?

faeam 31

e HHITSTeh Shdehd  JSTeRRUNT 37T,
faam= =

[al [al o N
HTEl TTRRUT HEOHTH: 3T,
fepet 1
The! HHISIeh shrdehdl USTohRON &l
freamel 1T

TS USRI ISR 3T,

(A) T 1 ST

(B) e II STl

(C) I euftr II SR ATHRaAd

fal

D) I 9 II =& TRl FTHAI

[P.T.O.



In the following diagram the exports
(in Crores of Rupees) of four
companies (C;, Cy, Cg and C,) are

given for three consecutive years.

7.
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e FAT Cq, Cy, Cg 3 C, A
(T THRME) SeE feen oTe.
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Exports of the Companies (C,-C)) in Crores of Rupees

Over the three years period, the
company which has shown the
highest variability in their exports
is :

(A) Cy

®) C,

(C) Cq

D) C,

1 AT AT ShiCaEld hiveT a1
frafd= foerorfierar waifas s ?

(A) Cy
(B) C,
(C) Cq

D) C,




Using the diagram of above
question, which of the two
companies’ average exports can be
considered to be close during the
three years ?

(C) C; and G,

A scientist collected 11 observations
in connection with a particular
experiment and calculated the
summary measures such as mean,
median, variance, maximum and
minimum. Later, the scientist found

that two observations 54 and 43 were
wrongly recorded as 45 and 34.

Which of the following statements
are true in this context ?

(z) Corrected mean will be larger
than the initial mean.

(zr) If the initial median was 36,
then the corrected median
would be less than 36.

(111) The initial variance and the
corrected variance are same.

(A) (@) and (i21)
(B) (i1) and (iiz)
(C) (i) only
(D) (@) only

APR - 00117/1—D
e YEAA SThdia®es a1 q aoie

HIAEET RN S U= GUEH
frata gmor gam e ?

(A) C; 9 Cq4

(B) C, ¥ Cq
(C) C; 3 C,
D) C, 9 C,

T IMSEAH FAR &ed 11 e
Jigfaeft. G @M @ 11 Femiae
guadt, 7, fo=wor, saa e 9
formm 8701 hTedl. QR = A&
A 1 54 9 43 B S Fer) Toigenty
45 9 34 oM ifae el B

gd Alfgdia®d ©TATadeh] Il

faum fAfvedon a= emea ?

(i) goid TUed & = S
ek 319

(fi) ST HE 36 AHTAE FHIRd
TR 36 Ua HH T

(fii) garia fo=mor 9 A fo=mo a9
3.

(A) (i) 3TfoT (i7)

(B) (1) 00 (i)
(C) e (iii)

(D) & (@)

[P.T.O.



10. Percentage of students of a college

who are involved in different sports

activities are given in a pie diagram.

Not involved in any
game, 18%

Suppose there are 5240 students in
this college. Which of the following
are correct ?

(z) Approximately central angle of
the portion corresponding to
Badminton is 58°.

(z1) Approximately the total number
of students who play some game
or other is 4297.

(zi1)) Approximately, the number of
students who play tennis is less
than those playing the cricket
by 500.

(A) (@) and (i7)

(B) (@) and (i)
(C) (@) and (iit)
(D) (@i7) only

APR - 00117/1—D

10. 92d U@ ATHdid AEfaaraardid

fafay wier SUHAHLS el g
foeneaf= ssherdl feeft e

Not involved in any
game, 18%

a1 HEIfoaTaaTd THU 5240 forameff
AGTATH WTeATAdaht hiodr faem
ffe=ayer W emRd ?

() ddefHeT=a1 UHIEl Hed HIF
HIRUd: 58° 37TR.

(i) THAM THT HISYRNG TS
U= faeneat=in T HIewo
4297 3TR.

O RCARES] fomneaf=t we,
forene W= famneat=a =auen
WYROE: 500 7 HH 3R

(A) @) 7o (i)

(B) (@) Smfor (iii)
(C) (i) 3T (i)
(D) ® (2)




11.

In the following diagram, seven

cities are connected via two-way

roads (no arrows) and one-way roads

(with arrows) as a network.

\ U

Q R

The number of distinct paths from

city V to city R, without going

through any city more than once

is :

(A) 3

B) 4

C) 5

D) 6

APR - 00117/1—D

11. eI ST |d IR d AT SISuR
T SeTert 3TTed. Ao fowm Sefecrel TR
Tl YA a9 FHerd T Gadl STTeal.

\4 U

V 1 YEUURE R A1 IR09d SoarEre!
SHIUCAE! IR SFel SO el

fafs= art ema ?

(A) 3

(B) 4

C) 5

D) 6

[P.T.O.



12.

13.

Consider the network diagram given
in the previous question. Suppose
that the road connecting T and R
got damaged and therefore, traffic

cannot go along that road.

Then, the number of distinct ways
in which city R can be reached from
city Q without going through any

city more than once is :
(A) 3
B) 1
C) 4
D) 2

What is the full form of ‘http’ in the

context of Internet ?

(A) Higher text transmission

process

(B) Higher technical textual

platform

©)

Hypertext transfer protocol

(D) Hyper transmission of truncated

procedures

12.

13.
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1 YRAS! QT Sl G STahaiel

I Y. TEST T R I1 &0 SIS 0=]

AT JohdH FCAMes Al STaeh el
T HIUA ST IR

Fen giiferdld Q = WRUURE R A
IR STUATEIS! hIvCATR] YR Sl
7 SR fedt fafa= arf smRa ?

(A) 3
B) 1
C) 4

D) 2

e Heuid ‘w=RRMt’ (http) A

e foeiEy s ?

(A) BRR ¢FE IEMIE 999

(B) TR foHshal ToRgTA iehH
(C) THEWIHRZ IAHRL Hlelhid

(D) TR IEHYH Ah Iehds Mgl

10



14.

15.

16.

Identify the incorrect pair from the

following :

(A) .jpg — graphic file

(B) .ttf — word text file
(C) .wav — audio file
(D) .exe — executable file

Identify the correct ascending order

of the units of digital memory :

(A) megabyte, petabyte, gigabyte,
terabyte

(B) megabyte, terabyte, petabyte,
gigabyte

(C) gigabyte, megabyte, petabyte,
terabyte

(D) megabyte, gigabyte, terabyte,
petabyte

In the context of Internet, the
facility in which the server
application allows many users to
create and edit pages on a website
through their browser is called

as :

(A) Hacking
(B) Troll

(C) Cybernatics
(D) Wiki

14.

15.

16.

APR - 00117/1—D

eI EET I C RS U o)
(A) jpg — WiHE e

(B) .ttf — =€ TR HEA

(C) .wav — 3iffestt (&) wRA

(D) .exe — TRERTA THed

fefSled gream Tawhi=n WTeTdatHhl

RV F&dl HY S e ?

(A) TTETEe, YeErEe, firmere, SeEe

(B) WMEEe, EEe, Yeremee, fimmege
(C) firmerge, Femge, UemEmse, e

(D) HmEEe, fmenge, 2EEe, YeemEe,

TS ST, 3Teh ATIReheA =T TEIren
JeETEEeR TES -d defgs] {07 s
91 HUGd oA G 0T Tl
AR y= iasa e B ?

(A) BT

(B)

(C) TR
(D) foeht

11

[P.T.O.



17.

18.

19.

Identify the correct chronology of

the internet facilities from the

following :

(A) IMDb, Google, LinkedIn,
YouTube

(B) Google, IMDb, YouTube,
LinkedIn

(C) Google, YouTube, LinkedIn,

IMDb

(D) LinkedIn, Google, YouTube,

IMDb

Identify the correct pair from the
following :

(A) Google — Bill Gates

(B) Hotmail — Tim Cook

(C) Wikipedia — Jimmy Wales
(D) YouTube — Richard Stallman
Bhopal disaster is caused due to :

(A) Methyl isocyanate
(B) Ethyl isocyanate
(C) Sodium cyanate

(D) Potassium cyanate

17.

18.

19.

APR - 00117/1—D

geeaa gfaur=n qeraien! hivm

HAHH AT AR® ?

(A) STETHSTET, T, foagesd, g=@

(B) e, TAUHSTS, qeud, foiees

(C) T, Jegd, faeesd, auHeStel

(D) fasres, T, geud, STl

TEdush! qrg SEl Sf@en

(A) T — faa ey
(B) @i — fom ==
(C) fafwfufesn — foeit aew

(D) geud — = wremm

ATl e VAT RS TSall ?
(A) faorda FrEEmETe

(B) TS A

(C) HrEMEH e

(D) drefEE HEe

12



20.

21.

22.

23.

The major cause of water borne

disease is due to contamination by :
(A) sewage

(B) chemicals

(C) hazardous waste

(D) dyes

Mangrove is a special type of

ecosystem and is found along :
(A) estuary

(B) hill slopes

(C) plateau

(D) freshwater lakes

Kyoto Protocol is an agreement to :
(A) reduce global warming

(B) reduce acid rain

(C) undertake plantation program
(D) reduce soil erosion

Water resource is a key for the
dispute between states. Cauvery

dispute is between :

(A) Maharashtra & Karnataka
(B) Karnataka & Telangana
(C) Karnataka & Tamil Nadu
(D) Orissa & Madhya Pradesh

20.

21.

22.

23.

APR - 00117/1—D
Ui fafas I Wefieden! ShivRaTes
T ?
(A) HIHA
(B) ™A

(C) ®NRIEHH He

(D) VA

TREEdd WRES Tl Tl de]

it okl woed ?
(A) @ret

(B) SR 3R

(C) SR ¥R

(D) e AU HeR

FE HEUSAS & 319

(A) SIFTfder A O {0l
(B) T U@ WHIOT hHT o

(C) HTE=l dANES v

(D) SIfHA=El gu wH HIoAEE

SAATT U= T 9% Ad9e
=] SR, ShToR] &< YTUATEE ShIvfel

A TSI NS ITRd ?

(A) HERIE o Ul

(B) <hUMiesh o QqeiTom

(C) =Uliesn & dAHIBTS.

(D) A I HEEwRST

13

[P.T.O.



24.

25.

Which one of the following is a

National Park in Maharashtra ?
(A) Nawegaon National Park
(B) Nandhavgarh National Park
(C) Nagarhol National Park

(D) Madhav National Park

Which of the following five pillars
are expected in Education Policy

2016 ?

(A) Availability, Affordable
education, Equitability, Status

and Accountability

(B) Knowledge facilitating,
Knowledge concept, Knowledge
creation, Application of
knowledge and Delivery of

services

(C) Deschooling society, Economical,
Exchange of Skills, Self Rating

and Research

(D) E-governance, Ecology, Social
Audit, Environmental validity,

Self Learning device

24.

25.
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TTATAeh] IV T STM ARSI

AqE ?

(A) ATE T SEH

(B) A¥aTTE TRHE 3T

(C) TREA UeerE SaM

(D) WYE T=E ITH

eIfore EROr 2016 HEA HIUW U= WY
FHUATE STUET K HAUA ST
e ?

Tyr870T,

IS, g ST ST

(A) SUSASEIG], TYIISTINR

(B) T U<l YA, T Geheudl, I
fAfddt, I@= SuieE emfor e
oo

(C) 3med Tam1 w1, T, I
JATITET0], F&d HeIHIT S0
ESNIECE]

(D) E-wemeH, ifass uifeerdt, Trfss
T TR0, U0 Sl SATfoT

W AT FIA

14
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26. Education is manifestation of divine | 26. HHeTHE RERIq STEeeA ot goiard
perfection already existing in man TRFTT FHT Teor e 2 3T$'ﬁ
‘FSTW W ......................... ?:I'Fﬁ
defined by ......ceevviviieeennnnnn.
el
(A) John Dewe o
y (A) SiF =I5
(B) Swami Vivekananda (B) Tt fersen Ta
(C) Plato (C) =il
(D) Whitehead (D) =TERS
27. Identify the correct answer of | 27. fo=Idic &I 1994 AL T & A
Articles and its provision regarding WIS B gk es@l :
the Uni ity Act, 1994 : . < a
© fuversity 8¢ (1) ﬁ_q'q-S]_ — AR F HHI3I
(1) Article-81 — Conditions for Ik
affiliation and recognition .
(2) T1¥H-82 — WAl fHaraEe =t
(2) Article-82 — Procedure of
EAPEEI|
permission to Grant
(3) T79H9-83 — G0l HIATH
(3) Article-83 — Affiliation
EAPREA]
procedure
(4) Article-84 — Procedure of 4) -84 — HRISEIRT =]
Grant of affiliation to colleges AT TS
(A) Only (1) and (2) are correct (A) e (1) SAf07 (2) ST 3
(B) Only (1), (2) and (4) are correct (B) W (1), (2) 301 (4) SR 37
(C) Only (1), (2) and (3) are correct (C) ®aFa (1), (2) 1M1 (3) &R 3A®
(D) (1), (2), (3) and (4) all are correct D) (1), (2), (3) M7 (4) S AR
15 [P.T.O.



28.

29.

30.

Sam Pitroda served as :
(A) UGC Chairman
(B) NKC Chairman
(C) NCTE Director

(D) NCERT Chairman

Veterinary education is related

.....................

(A) General Education

(B) Medical Education

(C) Agricultural Education

(D) Technical Education

What is the full form of AICTE ?

(A) All India Committee of

Technical Education

(B) All India Committee of

Technology and Education

(C) All India Council of Technical

Education

(D) All India Council of Trade

Education

29.

30.

APR - 00117/1—D

(A) fommmdie sTEM TN eTeae
(B) TS M STEMNNE A&
(C) It Tinerer foneror uRoe= Hametsh

(D) T el GeeE @ wikie
BRI

TS (AICTE) =1 qui fowr

EJR
(A) fEd R 9o e afdt

(B) s1feet R da=m emfor fereqor
witgt

(C) Afad YR a9 e 9fiteg

(D) AT YR AR e aieg

16



31.

32.

The main objective of teaching

1S e, )

(A)

to facilitate learning

(B)

to give information about

unknown facts

©)

to use teaching aids to simplify

the content

(D) to form good learning habits in

students

Academic learning time does not

depend upon ..........c.......... .

(A)

content

(B) difficulty level of content

(C)

time spent for learning

(D)

students’ attitude towards

learning

32.

APR - 00117/1—D

(A) T gAY HI

(B) 3THIId qeaiereld= Afgdl <01

(C) 3T W91 HITITETS St &Tfuren

AT ST9 h0]

(D) faeneaf ATAEE=A AT

et a9

Srearforer  27eT9T wTAEEt (academic

learning time)
STaeed .
(A) RTF

(B) SRMET=T hIfGUIUTes!

(C) SAHIAMES SHdd shetell shrcTaret

(D) Toemeaf=t steaemafa i

17
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34.

35.

is an essential

...............................

quality of the best teacher.

(A) Strong subject knowledge
(B) Genuine interest in teaching
(C) Language fluency

(D) Good presentation

method of

teaching, teacher uses the maxim

known as ‘specific to general’.
(A) Analytical
(B) Synthesis
(C) Inductive
(D) Deductive

The selection of teaching aid depends

largely on the ............. .
(A) age of students

(B)

interest of students

(C) age and motivation of students

(D)

educational level and age of

students

33.

34.

35.

APR - 00117/1—D

3 forerehTen STcaTaydeh TR

(A) 39 fas=Em

(B) STEATUAET AAAEA 3TeS
(C) irererdt e

(D) 3TH HIEUhL

forerr ‘fafyrsershgd RS’ B

FAME G (maxim) ST

(A) fageremomeRs

(B) H¥ATT

(C) ST

(D) e

Srerforen Wifecm= (teaching aid) fae

(C) fomneatsr s9 9 =T YoM
(D) foeneat=n Sforer TR 9 A= o4

18



36. Ms. Sindhu conducts question-

37.

38.

answer session in her class to
determine the abilities of students,
at the beginning of an academic

year. This is termed

..........................

assessment.

(A) formative
(B) summative
(C) diagnostic
(D) cumulative

............................... thinking enables us
to write statements and develop

arguments in a step-by-step

coherent manner.
(A) Accurate

(B) Scientific
(C) Logical

(D) Clear

One of the following is a reference

management software :
(A) EndNote

(B) Turnitin

(C) Copyscape

(D) Viper

APR - 00117/1—D

36. Yerforw auiten geardan, siwd fay

37.

38.

e e fomneaten emar fAfyed

fadamages
ST THE HHARAM Jeig d JHaGq0!
forg wTeRal.

A) T

(B) MRS
(C) THaTd

19

[P.T.O.



40.

41.

of a research

...............................

article is placed near its beginning.
(A) summary

(B) abstract

(C) synopsis

(D) preface

A proposal that may provisionally
serve as the starting point for
further research is known as
...................... hypothesis.

one-sided

inductive

working

D)

non-directional

Research journals with a high

are commonly

.................................

considered to be more important

than those with lower ones.
(A) Eigen factor

(B) h-index

(C) impact factor

(D) 110 score

40.

41.
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(D) J&E

S g dlchlfaes &AM Yeid

TN Y& HIOAMES! TR Sl

el T8 TEUam.
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A is a short-term,

intensive course for a small group,
emphasising problem solving or

learning newer techniques.
(A) workshop

(B) seminar

(C) summer school

(D) refresher course

Answer question Nos. 43 to 48
based on either the English

passage or the Marathi passage :

The Middle Ages is a period in
European history from about the
400s to 1400 A.D. During these
years, also known as the Medieval
period, Europe evolved from ancient
to modern times. This gradual
change began when the Roman
Empire collapsed in Western Europe
during the 400s. Many people
believe that after this collapse
culture and society declined. The
Middle Ages is sometimes called the
Dark Ages because of this belief.
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42. I TR, T TSIHHA T8

T GHE-GYE fear 99 a3

FTCAYT 0 Hew ot S
(A) e

(B) =m=iEs

(C) 3= =

(D) 3ISTesuft o

T . 43 ° 48 ¥ Y feoiean sarmer
AT ATed.  suSiater feman
B Iararaiel gyl 3

foaR AURE Uk See™

I AT=AT GHFRTATT

gfgumraat, «ifdwact gsied-
foremaamaen sifeen <R o SRqgfearfaamie
31 FHET TR HiEa 2. |l hRe
SwhATael fehan faenfier Fegd. =
Ty e, 95 9 Terg A Heurl
ST SYATETel e T SISURT Bl
e AR YURKIIGHATI AT AT
TN SON=T ST GEmomgEarar =y

qoeg= 7 & |/ A FHSA
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In fact, the Middle Ages was a time
of great activity. The Roman Empire
was divided into many smaller
kingdoms. Most kings had little
control over their kingdoms. As a
result, hundreds of vassals with
titles like prince, duke, and count
became independent rulers of their
own land. Their territories were
known as fiefs. They ruled like kings
through a form of government
known as feudalism. Under
feudalism, a king gave a fief in
return for a vassal’s loyalty and
service. The vassal promised to
protect the king and fight in his

army as a knight.

The vassal, in turn, would give part
of his fief to people who promised to
serve and protect him. The feudal
system of government created two
main classes of people. The ruling
class governed the peasants and
engaged in the fighting. The
peasants or serfs worked the land to

support themselves and their rulers.

APR - 00117/1—D

forsH=a §e ARG SR Tea e
| O A L e S S B M A
foamr=an s dTEll AHISTHREA
AIEUT Wth qHRIAT

qicier. Ul e’ SATeRIaed fasar

LN N

NN

N
Yoo ool

Tl GeRRT g Yok Teadl, St faom

UG : TSETAHT o HRRAYd Sl
Bl

e feg wHt=n fafehan sef s
TIGHET AISU shedl, IO Il 378 AT

%a@ TRIH AR HFAT B,
AT AT R T Wil TTHIST

TIERId faoaren <1 gaities A9« o

Y SAMTRR 1 hlsl 3A@esd Bl

Al \:H‘/IQ')HI:I ]I bI|Q'1‘J¢II‘°{r\I HES @Ii"II
Ioell B, esd T enfie U,
faersh, @uSAl, €I 9 AIHRTER
FAOES THYYH SENS I3l Bl

Jgifaes gdehea=n gcqa1 QrATfSIeh

IRITN Sl 3T ThSIaqu  FTel
Bl A USITEl qeqATd  FUIAT
U SREERRET (Proxies) W
TS Td. fggra emfr wdr A
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There was also a third group of
people, the clergy, which served the
Church. The Church was the main
force that kept Europe together
during the Middle Ages. Church
leaders took over many functions of
government after the Roman
Empire collapsed. Most Europeans
were Christian. The Church had
great power over its people. It was
very wealthy and owned a lot of
land. It provided education and
encouraged literacy. It also

administered justice and created

hospitals for the sick.
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WERT FTeell a1 SeauaEel &

yHfafheal STacd Sholdll  STHTATS
$ha@ G GHIHA

FHeEf9 FASHA TSl Togdl. 1941

ha N e

I dSE

ITIRTdTAd  Tshelld FHITTI=aIdd

ggcliicheh Ued-TES! YeH  eHfafchea

UgtaT=l HEe et 8idl. deYTHTIS
BB S S | o A B i = A
STAUTd, TYTATTIAT FIR @A

SEcilcheh SRR IEETFel W Taear e
N THAH Yood arF=] 38d @
AT & Fciel GURuET et
qrTfSreh gere fovm g0 w2

43. The fall of Roman Empire in | 43- EECEIL R E L B IECEIHERE TS
European history : H. goared faune STTel Jese
(A) 1is believed to be the decline in Y

culture and society in Europe
(B) is marked a period of gradual (A) SRR FA

change from belief to disbelief (B) T
(C) began in 1400 A.D.

(C) Teafaamaerd

(D) ushered in a sense of loss of

hope among the people (D) TEIETIET
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44. The period from 400 to 1400 A.D.

45.

46.

is known as :

(A) the modern period

(B) the medieval period

(C) the ancient period

(D) the period of unrest

The period of Middle Ages :

(A) marked the firm control of the
king over his kingdom

(B) witnessed the emergence of
many smaller kingdoms in

Europe

(C) was the most passive period in

European history

(D)

gave impetus to the idea of

central rulership

In the Middle Ages, the provinces
controlled by the prince, duke or

count were known as :
(A) regions
(B) vassals
(C) states

(D) fiefs

APR - 00117/1—D

44. AT FAYH TAUH TRAEME ¥eRa0

45.

46.

SURT IMY; 991 O gEaruted fomm
Te<d IUIRTE T8 ¢

(A) ¥qui faem =%

(B) Hqui faem slieR

(C) Jaied a¥eR, STY I
(D) wwae SR, Yeried =

M o

STENIHTSITEA T MR JRdfa=aR STHET;
T FHEAr JEd v of ey

(A) gl faem I

(B) wyul faum aleR

(C) Jaied a¥eR, STd I
(D) ST SR, geied g

R g€, ¥, YU A ol

HI0IE SR BN

(A) STEIHHSTE He3ees
(B) weawHf= Aol

(C) fegumifasrit sy
(D) wHeHerediel fersree
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47.

48.

49.

In feudal system :

(I) kings were protected by the

vassals; and

(IT) the vassals were protected by

the people.

(A) (I) is right and (II) is wrong

(B) (I) is wrong and (II) is right
(C) Both (I) and (IT) are right

(D) Both (I) and (II) are wrong

According to the passage, the main
authority that kept the European

Society together was :
(A) the feudal system
(B) the king

(C) the church

(D) the peasantry

In the context of Indian media
the represented by
abbreviations — PCI, CBFC, NBA,
ASCI are collectively called as :

entities

(A) media owners organisations

(B) set of media laws in the

constitution
(C) media regulatory bodies

audience measurement bodies

(D)

47.

48.

49.
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H. RedMl HRAfhedl HewaTe aeal

0T
(A) y\lE "
(B) deqM™OH

(C) d<d 3ol oara SUAISA Irdrd
IELEGI

(D) 3/ gfeaH

IqT IATIATETS! AT THUS  IMSiah
HIOA ?

(A) STEIFHTS]
(B) RHHETS
(C) wHfaferedn

(D) ARER

IRAT ATEAAT=A] S (e,
‘HEATwEd., ‘e, ‘egEem.
71 e fERra oA st
Th{aU E Feigd S 2

(A) HIETH HIThT=a ]

(B) YRAE Hediel AISTHESET Sz
T

(C) Wy fHammer geen

(D) HIETH UTesh AU T
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50.

51.

What is ‘Prasar Bharati’ ?

(A) a private company owning TV

channels

(B) a telecom company owning a

large mobile network

(C) an advertising and public

relation wing of the central govt.

(D)

an autonomous body for public

radio and TV broadcasting

Which of the following is not a
correct statement in the context of

communication ?

(A) Non-verbal communication

predates verbal communication

(B) Non-verbal messages are
culture and context
independent

(C) Non-verbal clues may compli-
ment as well as contradict

verbal messages

(D)

Non-verbal capacities are more

innate in us than verbal

50.

51.
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‘TR IR WU e ?

(A) Tl gl HieTeh! AT Th
ST HYA!

(B) WOEa™ HIS Wed A Th
. -

(C) &3 THRET Wfedd d SH99sh

fooge TR faum

(D) HESIer &l e 9 el
FAIUR AT T STelelt TaTa
Treq

GO T Jeiardent Fiv foaem
ek E ?

(A) 7.9 93199 99T GTIATEA

et AT T

(B) TH:3res waw & weandt o weH U
ST

(C) T3eg Tom a1 fog w9 Hevmen
Th & THha a1 falHE 3®

RMehdld

(D) TER SRTIASHAA qaiia .37

RAETH ek 37T STEar
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52.

53.

The categorization of human
communication into intrapersonal,
interpersonal, group and mass
communication is mainly based on

the criteria of :

(A) technical medium involved in
communication

(B) nature of messages exchanged
In communication

(C) number of participants involved
in communication

(D) effectiveness of communication

Identify the correct pair from the

following :

(A) Teaching in classroom — Group

communication

(B) Evaluating answer-sheets —

Non-verbal communication

©)

Teaching with PowerPoint —

Mass communication

(D)

Debating in classroom — Phatic

communication
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52. HFEl FAYATE TEATYA, STl

TR, TEHIA o SAET 379 IR0

q&Te hIveal Rt el S ?

(A) GJTIATEIST ATITATHT  q1fh
HIEHAX
(B) TATIATHED SATCTAYSIT HTA AT

G TETTeR

(C) TS TEUIT L= TR

(D) FJATIATAT  FTITATIL 9T

qRuHeR R e

53. YeIaush! A Siel sfieen :

(A) Tt ferepfadt — TTegwTH

(B) Swufsent qurEer — f9:3meg gam9q

(C) dYfeRufsegR fyremfadt — SHETOA

(D) =gy arefaerg w0 — Si=nieh

T (Wieh HETHI)
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54.

55.

56.

The perspective that ‘communication
is essentially a meaning making

process’ logically implies that :
(A) sender is more important

(B) medium is more important
(C) transmission is more important
(D) decoding is more important

A person on a bicycle travels from
a place X to a place Y by speed
30 km/hr and coming back by speed
20 km/hr. What is the average

speed of the person in the tour ?
(A) 24 km/hr

(B) 25 km/hr

(C) 26 km/hr

(D) 25.5 km/hr

In a city there are 50 squares
(including dead ends). Among these
squares, m squares are there each
of which is adjacent to odd number
of roads. Then which of the following

is impossible for the value of m ?

54.

55.

56.
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‘T @ od: AY wevarE Uik
3y’ A1 gftehHTET T difehes o1¢f o7&
Eal

(A) U9k B Ak Hewr STl
(B) HieAq § 3ifueh Hewe STd
(C) 9&Uu ¥ Al Hear STEd
(D) 319 Iehel &HdT 34k Hewdr=! STEd

Teh HFhel @R X A1 fehmomgd Y =0
foemit Tt 30 kn/hr ST STl A

A e aEl 20 km/hr I A4 W
o 96d WA A BaHed JEd
i feRdt 2

(A) 24 km/hr

(B) 25 km/hr
(C) 26 km/hr
(D) 25.5 km/hr

TeRT TEAA 50 Wik STed (SAHEH L&
AT fedhmol gHTase 3T®). Al
ShRTUh! m ik TY SARd i, TUhT
3. W m = forma g feeien wafaiimt
IV ST TR AR ?

(A) 10 (A) 10
(B) 2 (B) 2
) 0 C) 0
D) 15 D) 15
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57.

58.

In an arbitrary group of six people,
which of the following situations is

impossible ?

(A) At least five of them know each
other and two of them do not

know each other.

(B) At least four of them know each
other and three of them do not

know each other.

(C) No three of them know each
other and no three of them

unknown to each other.

(D) No four of them are unknown

to each other and there is a

person known to every other.

Let m be a 3 digit natural number
such that the sum of the digits is
18 and the product of the digits is
zero. Then which of the following is

not true ?
(A) m is divisible by 3

(B) Either m is divisible by 10 or
it is divisible by 101

(C) Either m is odd or divisible
by 11

(D) m is divisible by 9 and divisible
by 13

57.

58.
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el SHFIT= THRTEH, Weiedeh! hIvrdl
T T A ?

(A) HHG HH UE HK(T ThHHA]
STeBEITd AT S et TehHehMI
Seslrd el

HHG HH TR TR THHABM]
3eaterdTa ST T SRt TehHehil
3ol el

HICATE! dF TSR] THABIA]
HIBErdd 319 A&l S0 hIvmEl

T R THHS SHIBE 3T

3 B AL

HITATE! IR Tl Th U
AlBEad 3 el M T T Th
ST TS R a1 STUT SAX ShIOTTR!
T ¥ S ThHeRT SesErdrd.
TS m B 3R] A9 TEe
SThTel RISl 18 STYA 3TehT=l UMK
0 3TR. Tefeiysh! v faum 3T
3 ?

(A) m T T AR STl

(B) T m & 10 4 9 Sd 3/8d
foram 101 3 9 S

(C) m & g fawm 8« fomen faam
11 9 9 S«

D) m a1 G&IH 9 7 9 S I 13
q 9U YR ST

(B)

©)

(D)
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59.

60.

Let 1. L, 1 1
et x, = +2+3+ ........ +n.
1
That =1 =1 —
at means, xq , Xg + X

1 1
x3=1+5+§andsoon.Then

which of the following statements
is true ?
(A 1< x, <2, for every n.

(B) For any integer M, there is an
n such that x, 2 M.

(C) There is an integer m such that
X, . 1 < x, for some n > m.

(D) For any positive integer m,
there
X

is no n such that

n+1—xn<10_m.

A certain metropolitan area has a
population of 9 million, of whom 5
million live in the city and 4 million
live in the suburbs. Each year, only
20% of the suburbanites move to the
city, while 40% of the city dwellers
move to the suburbs. Ignoring the
effects of births, deaths and
what will be the
population of the

migration,
city after
completing two years ?

(A) 3.8 million
(B) 5.2 million
(C) 3.32 million
(D) 5.68 million

60.
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(A)Wnﬂ'@,lﬁxnsz

(B) wIvrcmgl feeedn gut @& M 9iel

@ n fHexdl 1 x, = M.

(C) 31t e quf §&l m fHesd o
6ﬁ'UW’:I'I'éanQ’IEﬁx,,H_1<xn.

(D) feoiedn ShIvE! &9 qulieh m §Iet
Wnaﬁxn+1—xn<10_m,
3 n TNYO Y AR

Teh! HEMTRIE! clhE&dl 9 o 3TR.

A 5 e 380 el o 4 g
SUTTRIG TaTd. Ueish a81 20% SUTRICTA

IfEamEl IUd aRaed A 9 40%

?Iﬁ{QIHﬂlf‘l SYTTRIA IR Idid. SiX
S, g 9 faeamEn dsheede]
SRV TROMH el @ 3T JHd, @

T U ITREEEEl T'ed famdr ?

(A) 3.8 million
(B) 5.2 million
(C) 3.32 million

(D) 5.68 million
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